46 pts Solution Composition

1. (4 pts) Calculate the mass percent of calcium chloride in each of the following solutions:
a. 5.00 g calcium chloride in 95.0 g of water. Solute? Solvent?
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b. 2.00 mg of calcium chloride in 380. g of water. Solute? Solvent?
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2. (4 pts) Calculate the mass, in grams, of NaCl present in each of the following solutions:

a. 11.5gof6.25 % NaCl solution. Solute? Solvent?
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b. 452 gof12.3% NaCl solution. Solute? Solvent?
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3. (4 pts) What is the molarity of a solutlon in WhICh 40.0 g of sodium hydroxide are dissolved in 6.00 L
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4. (4 pts) What is the molarity of a solution that contains 14.0 g of ammonium bromide dissolved in
enough water to make 150.0 mL of solution? Solute? Solvent?
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5. (4 pts) Calculate the grams of copper (l1) nitrate needed to make 100.0 mL of a 3.50 M solution of
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copper (Il) nitrate. Solute? Solvent? @\h
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6. (6 pts) A solution is made by dissolving 26.42 g of ammonium sulfate in enough water to make
50.00 mi of solution. What is the molarity of each ion in this solution? Write the dissociation
equation. Solute? Salvent?
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7. (6 pts) How many grams of sodium carbonate are needed to make 100.0 mL of 3.0 M solution of
sodium carbonate? Solute? Solvent? What would the molarity of the solution be if the volume was

increased by 44 mL? Pealey, R0
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8. (6 pts) Calculate the moles of each ion present in each of the following solutions:
a. 10.2 mLof 0.451 M aluminum chloride solution
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b. 5.51 L 0of0.103 M sodium phosphate solution.
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9. (8 pts) Calculate the mass percent and the molarity of a solution that is prepared by mixing 25 mL of
pentane (CsHyy, d = 0.63 g/cm3) with 45 ml hexane (CgHqq, d = 0.66 g/cmg). Solute? Solvent?
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